QID : 201 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

R uy # By 7w fomedt # @ uy =g
(?) & TUH W HE arell = H T

Options:
11

2)2
3)3

4)6
Correct Answer: 2
Candidate Answer: 2

QID: 202 -

How many triangles are there in the given figure?

& % Al # foraa g 2

/

Options:
1)4

2)5
3)6

4)7
Correct Answer: 6
Candidate Answer: 6
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QID: 203 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matnices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by ils row and nexi by its column, for example, ‘F’ can
be represented by 24, 85, etc., and ‘K’ can be represented by 41, 57, etc.
Similarly, you have to identify the set for the word “YATCH”.

T W Hhae T TEAT-TIE RT ST I §, of|r &6 faemeut 3f @
Tl v # Tean mar g1 ahewt A QU v HEaT-deg AR & gl ol
gRT GAT T R, SR T BT T o) omegl & 1 Imegml & TEEN IR
Uik 61 T 0 ¥ 4 ¥ 3 gl B 5 F 91 3T IR W UH IR
W Ugel IR U IR arg F T ST gRr gRier SwoEhar
3GIEAOT o Tolw F'al 24, 85, 377G &RT GRIFT ST Fhal & T ‘K’ 7 41,
57, NG TRT ST ST GHAT B S ¥ ° Iuw v A RBE g
“YATCH” & T Tag & udear &

Matrix-1 Matrix-ll

Hiegg-1 g1l
011|234 5|6|7(8]9
o|ClUu|G|J|D S|A|V|IK|T|H
1[{S|F|J|[N|U 6|L|R[T|O[N
2(Y|P|V|IM|F 7jrHjQ(w|Y|P
3|1 |E|JA|C|H 8|F|H|[R|M|S
41 T|K|[D|Q]|L 9|U|G|A[Q|B

Options:
1) 78, 55, 40, 01, 55

2) 20, 55, 58, 33, 86
3)78,32,57,34,33

4) 20, 32, 67, 00, 33
Correct Answer: 20, 55, 58, 33, 86
Candidate Answer: 20, 55, 58, 33, 86

QID : 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& TR TR APiad H W 3W I AP B gRAT
form & wy ampfa BRT &

ﬁF
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Options:
1)

P
/><\

2)

3)

4)

Correct Answer:

s N
/><\
Candidate Answer:

<1
/><\

QID : 205 -

Which answer figure will complete the pattern in the
question figure?

BT W TA HHA TH HPIA & UaST Bl QT

el
/g'o\
LR
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Options:

1)
"
o)
2)
-]
(o]
3)
H
(o]
4)
[}
o)
Correct Answer:
/
(o]
Candidate Answer:
"
(o]
QID: 206 -

If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ify R SOUT &I AB Tl W T@T AW, A & 7S
Ta¢ Apiadl # @ diad @ Hpla v ipia

& viafass aefr?
L AE
T B
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Options:

4)

1 «—

l—»

Correct Answer:

R’

— 1

Candidate Answer:

R’

— 1

QID : 207 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ &y Aol § Emw MHgER wee @
Hizeh? Dad dAT Wield & olg d¢ bl I 3HTpia
stan fearg dame

™ G <

s el

7



Options:
1)

2)

3)

4)

OO
£

[+ (2]

Correct Answer:

Candidate Answer:

QID : 208 - By interchanging which two digits the equation will be correct?
38x6+19+4=17
T35 B il BT SO T TRER F&e IR ISR T8 gl Se?

38x6=19+4=17
Options:

1)9and 7

9aur7

2)3and 6

34dYi6

3)4and 6

47U 6

4)8and9

8 a9

Correct Answer: 8 and 9
84dUT 9

Candidate Answer: 8 and 9
8dYUr9

QID:209-1f19 @2 # 13 = 51and 14 @ 3 # 9 = 51, then
15@3#6="2
qfC19@2#13=51TM14@3#9 =515,

15@3#6=?
Options:

1) 55

2)69

3)51

4)76

Correct Answer: 51
Candidate Answer: 51
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QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Yellow
2. Yester
3. Yours
4. Yocto
5. Yards

ol il &1 TGP H S a1 HH P STuR |
1. Yellow

2. Yester

3. Yours

4. Yocto
5. Yards

Options:
1) 52134
2) 51243
3) 52413

4) 51342

Correct Answer: 51243

Candidate Answer: 51243

QID : 211 - In the following question, select the missing number from the given series.
1,8,9,64,25,216,?

Frafafea wy & fou T fowedt O @ @ i 1d Sifol|

1,8,9, 64, 25, 216, ?
Options:
1) 36

2) 343
3)49

4) 64
Correct Answer: 49
Candidate Answer: 343

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
T,RPNL?
TF 3w fean ma 8, ol 9 Ue ue 9w 81 fou U fawedi # 9 a8 wel fawed g, S o &1 Oy R

T,RPNL?
Options:
1)G

2)H
3)1

4))]
Correct Answer: ]
Candidate Answer: ]

QID : 213 - In the following question, select the odd word from the given alternatives.

Frofarad oy & i3 T fowed & & favg wsg & gful
Options:

1) See

Ercal

2) Run

3) Walk
ELEI
4) Jump
BRI

Correct Answer: See

Candidate Answer: See

QID : 214 - In the following question, select the odd number pair from the given alternatives.

Pofaaa o o 2 Resay o @ T —_ Tl 7 1




Options:
1)9-27

2) 121-1331
3)4-16

4) 25-125

Correct Answer: 4 - 16

Candidate Answer: 4 - 16

QID : 215 - In the following question, select the odd letters from the given alternatives.
Frafafed wy § fRu T fawedl # 9 faww sieri &1 9wl

Options:

1) PMJ

2) TQM

3) NKH

4) HEB
Correct Answer: TQM
Candidate Answer: TQM

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Male, Doctor, Engineer
T8 3@ gAY o A1 ey U onif % g & ey o1 Te) g s g1

Options:

©

2)

3)

©

4)

€1,

Correct Answer:

1D,

Candidate Answer:

QD

QID : 217 - In the following question, select the related word from the given alternatives.
Cold : Warm : : Dubious : ?

Fafifed oy § 3 T e § 9 J6fid st &1 gfu)

&oT: W : ;Wi : 2
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Options:
1) Certain

2) Angry
SU[A

3) Relation
REL

4) Elongated
qT

Correct Answer: Certain

Candidate Answer: Certain

QID : 218 - In the following question, select the related number from the given alternatives.
2568:428::4170:?

frafRad oy & R e Reed § 3 veile e ot 9f)

2568:428::4170:?

Options:
1) 719

2) 671
3) 695

4) 731
Correct Answer: 695
Candidate Answer: 695

QID : 219 - In the following question, select the related letters from the given alternatives.
RJ:OF::BT:?

Frafifed uy o fau U fiwedl # 9§ dafta siari &1 gu

RJ:OF::BT:?

Options:
1) ZQ

2) YP
3)YQ

4) ZP
Correct Answer: YP
Candidate Answer: YP

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
TRUECALLER
frafeRad fowedl & § 98 1eg 9T S U 7T Xeg F 9feRt &1 RN G- 81§11 o el

TRUECALLER

Options:
1) TRUE

2) LURE
3) REAL

4) RAIL
Correct Answer: RAIL
Candidate Answer: RAIL

QID: 221 - Ram is 18 from left and 23 from right in a line of people. How many people are there in the line?

fdadl o U Ui o 0 918 § 18-9f 9u1 3 ¥ 23-91 31 Ul & g fran sifda g
Options:

1) 40

2)41

3) 42

4) 39

Correct Answer: 40

Candidate Answer: 40
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QID : 222 - Ais taller than B. B is shorter than C. D is taller than A but shorter than C. Who is the tallest?

A BIATEIZI B, CABIRITI D, A D T T W C I BYeT B1 Wod el B 82
Options:
1)A

2)B
3)C

4)D
Correct Answer: C
Candidate Answer: C

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. No white is coal.
II. No coal is black.

Conclusions:
I. No white is black.
II. Some white are black.

A T T Uy H $© HUA AR I 918 37 B W AeRd T e 3w e ¥, i I W i @i 3 g & ged 81 el ey ug ok i it
X b 3T U I J s, 3T 18 oAl & YR W gfRidd g1

DY

1. B The P T8l 8

I1. BIg DA B i 3

frep:

1. BT e HTel Tl B

1. & e B 3

Options:

1) Only conclusion (I) follows.

Faa ey (1) 98 71

2) Only conclusion (II) follows.

Faa ey (11) I8 71

3) Both conclusion follow.

gt g fed ud B

4) Neither conclusion (I) nor conclusion (II) follows.
1 frs (1) 1 €t fsdd (1m) W& B

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
7 3 frsep (1) 7 €t e (11) W R

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

T fse (1) 7 € e () W R

QID : 224 - In a certain code language, "EMU" is written as "DLT". How is "FIN" written in that code language?

e fARIy H1s YT #, "EMU" &) "DLT" foRa1 9T 31 S $Is Y91 7 "FIN" &1 59 UeR forar sem?
Options:
1) GIM

2) EHM
3) GHM

4) EIM
Correct Answer: EHM
Candidate Answer: EHM

QID : 225 - In a certain code language, "MAN" is written as "28" and "SUN" is written as "54". How is "BIT" written in that code language?
e IR B8 T &, "MAN" H1 "28" TUT "SUN" &1 "54" foral Sl 31 39 SIS Wiwl § "BIT" &I {5y UeR ferar Swm?

Options:

1) 29

2)31

3) 34

4) 37
Correct Answer: 31
Candidate Answer: 31

QID : 226 - If the difference of squares of two consecutive odd numbers is 64, then what is their sum?

fire <) warTa faww dsarsit Favt




Options:

1) 34

2)32

3)30

4)17

Correct Answer: 32
Candidate Answer: 32

QID : 227 - Which of the following is greatest?
11/12,3/4,10/11
e # 9 #1999 991 82

11/12,3/4,10/11
Options:

1) 11/12

2) 3/4

3) 10/11

4) All are equal
TR R T

Correct Answer: 11/12
Candidate Answer: 11/12

QID : 228 - If y is an integer, then (y3 — y) is always multiple of .

e y T quiteh 8, ot (y3 - y) qea ____ o1 Ul e
Options:
1)5

2)7
3)9

4)6
Correct Answer: 6
Candidate Answer: 6

QID : 229 - Which of the following number is divisible by 6?

frafifa 3 4 # 9 ¥on 6 3 Rusg 82
Options:
1) 23562

2) 43742
3) 53422

4) 44444
Correct Answer: 23562
Candidate Answer: 23562

QID : 230 -

(0.7)° —(0.4)° 2
[(0.7)? +(0.4) +(0.7)x (0.4)]

What is the value of

(0.7)* —(0.4)
[(0.7) + (0.4 + (0.7) x (0.4)]

Options:

1)0.5

2)0.2

3)0.3

4)0.1

Correct Answer: 0.3

Candidate Answer: 0.3

T AT FT &2

QID : 231 - The product of two numbers is 630. If one of the number is 18, then what is the another number?

3l TS 1 UAT 630 §1 T Ud WS 18 B, N GO WS 1 82
Options:

1) 34

2) 36

3)35

4)38

Correct Answer: 35

Foandidaka Ancurae 2K Wi = e w2 P i s 7




QID : 232 - A and B together can do a piece of work in 10 days and A alone can do it in 30 days. B alone can do the work in how many days?

AT B @R U@ R BT 10 f&1 B 00 3% Gavd € quT A Sibd I 30 &l H 3% ToHal T B (Hdt 3 BRI B Tove ol B U1 R el 62
Options:

1)15

2) 12

3) 18

4)24

Correct Answer: 15

Candidate Answer: 15

QID : 233 - Three taps A, B and C can fill a tank in 20, 24 and 30 hours respectively. How long (in hours) would the three taps take to fill the tank if all of them are
opened together?

I 7T A, B @1 C fohfl <) 1 R 20, 24 TUT 30 €S H 1R Tha &1 I A1 79 U 1Y Wi 3T 1 €, o 9 et dat bl R B e W (9 /) H W
Options:

18

2)12

3)9

4)6

Correct Answer: 8

Candidate Answer: 8

QID : 234 - The length and breadth of a rectangular field are in the ratio of 5 : 4. If the perimeter of the field is 90 m, then what is its breadth (in metres)?

TP MAAHR & B TS qUT SIS BT U 5 : 4 §1 3 & F71 ol 90 Hiex §, O SU ASTE (Fiiex H) 1 32
Options:
1) 12

2)15
3)20

4) 30
Correct Answer: 20
Candidate Answer: 20

QID : 235 - A trader allows two successive discounts of 10% and 10% on selling an article. If he sells that article for Rs 405, then what is the marked price (in Rs)
of the article?

T faopar foreht avg &1 F9d I &l HIED e 10% qUT 10% Sal 31 Il I8 U a%g I 405 ¥ H o=l 8, 1 avg &1 sifdhd 4eg (3 ) Fn 2
Options:

1) 500

2) 560

3) 640

4) 700

Correct Answer: 500
Candidate Answer: 500

QID : 236 - What is the net discount (in %) for successive discounts of 30% and 50%?

30% YT 50% i &l HANT Fel DI Had (7T BE (% H) T §?
Options:

1) 65

2) 70

3)75

4) 80

Correct Answer: 65

Candidate Answer: 65

QID:237-IfP:Q=3:4andQ:R=2:5,then whatis (P + Q) : (Q + R)?
TEP:Q=3:4TUQ:R=2:58, AP+Q):(Q+R) FTME?

Options:

1)1:2

2)1:3

3)2:3

4)2:5
Correct Answer: 1: 2
Candidate Answer: 1: 2

QID : 238 - If (3/2)P = (4/5)Q = (2/3)R, then what is P : Q : R?

M (3/2)P = (4/5)Q = (/3R B, TP : Q: RAATE?

Wi = e w2 e _w ey 1




Options:
1)8:15:18

2)3:4:2
3)2:4:3

4)8:15:6
Correct Answer: 8:15: 18
Candidate Answer: 8 : 15: 18

QID : 239 - The average of 104, 102, 109, A and 112 is 109. What is the value of A?

104, 102, 109, A TT 112 T 37 109 §| A BT HIF T 82
Options:

1) 114

2) 116

3) 118

4) 120
Correct Answer: 118
Candidate Answer: 118

QID : 240 - If chairs are bought at Rs 600 each and sold at Rs 500 each, then what will be the loss percentage?

e HRI BI 600 T Ul FH BT X  Wiga? 500 T Ufd Hf &1 X 99 fegr wmar 8, @ w1 ufa=ia @ g

Options:
1) 12.53

2) 16.66
3) 18.52

4) 21.62
Correct Answer: 16.66
Candidate Answer: 16.66

QID : 241 - An article is sold at 20% profit instead of 5% loss, the man gains Rs 120 more. What is the cost price (in Rs) of that article?

TH T BT 20% I F TG 5% TH W Fo TR TH AR BT 120 T 4 U 1 1 T $1 569 I3 (3 H) |82
Options:
1) 480

2) 720
3) 1020

4) 1080
Correct Answer: 480
Candidate Answer: 480

QID : 242 - If the price of a commodity is decreased by 20% and its consumption is increased by 10%, then what will be the percentage increase or decrease in the
expenditure of the commodity?

TS Teh IR BT B 20% HH BT ST & a7 SUPT @I 10% 9 Wl 8, ol avg W @ § fora) vfod @t gfg @1 oot €efe
Options:

1) 10% decrease

10% 1 HH

2) 10% increase

10% &1 gf

3) 12% increase

12% & gfs

4) 12% decrease

12% I HH!

Correct Answer: 12% decrease

12% &1 BT

Candidate Answer: 12% decrease

12% Ht HH

QID : 243 - What is the value of 20% of 30% of 1200?

1200 & 30% T 20% BT A T 8?

| =ty ——wnT T 7 1




Options:
1) 36

2)72
3) 108

4) 144
Correct Answer: 72
Candidate Answer: 72

QID : 244 - Speed of a boat along the current and against the current are 10 km/hr and 8 km/hr respectively. What is the speed of boat (in km/hr) in still water?

TP 19 Bt T URT & SIHa adT YRT & Uiaga Hor: 10 5.1, /der aur 8 5.4, /der 31 2id @ # =19 &t w1 (.1 /gier &) ®n g2
Options:
1)2

2)9
3)4.5

4)6
Correct Answer: 9
Candidate Answer: 9

QID : 245 - A train travels some distance at a speed of 15 km/hr and returns at a speed of 9 km/hr. If the total time taken by the train is 8 hours, then what is the
distance (in km)?

wiﬁg@"r 15 fo5.1f1./eer 3t ifa @ oo g8 o Frelt § aur 9 .1l /eer Y fa & arow ol B 3 Yot B 38 99 wRA W P 8 e BT 9Hg el o, o gt (.
) /1 g?

Options:

1) 45

2)36

3)4

4) 60

Correct Answer: 45

Candidate Answer: 45

QID : 246 - An amount invested at simple interest gives Rs 2400 interest at rate of 12% in 5 years. What is the principal (in Rs)?

TP YRIRT TR SA7o7 W 39 &1 ol & S 5 98 7 120% 3T &R 2400 T FT A it 81 qaed (3 H) 7182
Options:
1) 3000

2) 4000
3) 5000

4) 6000
Correct Answer: 4000
Candidate Answer: 4000

| ire=atspn—neney e e 1




QID: 247 -
The line chart given below shows the wheat imported
(in tonnes} by the flour manufacturing company A from

years 2009 to 2015.

& R o Yar = # a¥ 2009 @ 2015 a6 TR
AT 3cUTEeh FUell A ERT 98 & AT (2l H) @
ZITAT a1

300 - 260

@ . 250 -

Q =

E%® L0 4

SE

= 5 150 1

t 100_

-4 50 -

g 0 T T T T T T 1
o O = o o T 10
8 & o & 5 &5 o
(9] N N (o] o (] (]

Year/a§

What is the percentage change in import of wheat from year 2010 to 2014?

T 2010 ¥ 9 2014 T Vg & 3mara F feaan ufawra aRad gan 82
Options:
1)75

2) 175
3) 16.67

4)25
Correct Answer: 16.67
Candidate Answer: 16.67

Wi = e w2 e _w ey




QID: 248 -
The line chart given below shows the wheat imported

(in tonnes} by the flour manufacturing company A from
years 2009 to 2015.

#=r faw 9w Yar Ry # 9¢ 2009 @ 2015 dF Th
AT 3cUTEeh FUell A ERT 98 & AT (2l H) @
ZRIT a1 &

300 - 260

@ . 250 -

Q =

E%® L0 4

SE

= 5 150 1

t 100_

-4 50 -

g 0 T T T T T T 1
o O = o o T 10
8 & o & 5 &5 o
(9] N N (o] o (] (]

Year/a§

What is the average wheat import (in tonnes) from year 2009 to 2013?

9 2009 ¥ T 2013 T g HT 3G ST (1 T) 7 82
Options:
1) 170

2) 168
3) 180

4) 165
Correct Answer: 168
Candidate Answer: 168

Wi = e w2 e _w




QID: 249 -
The line chart given below shows the wheat imported

(in tonnes} by the flour manufacturing company A from
years 2009 to 2015.

#=r faw 9w Yar Ry # 9¢ 2009 @ 2015 dF Th
AT 3cUTEeh FUell A ERT 98 & AT (2l H) @
ZRIT a1 &

300 - 260

@ . 250 -

Q =

E%® L0 4

SE

= 5 150 1

t 100_

-4 50 -

g 0 T T T T T T 1
o O = o o T 10
8 & o & 5 &5 o
(9] N N (o] o (] (]

Year/a§

In how many years, the import was more than the import in 2012?

forae aut o, Smard ay 2012 & AT § HfAF 12
Options:
1)2

2)3
3)4

4)5
Correct Answer: 4
Candidate Answer: 4

Wi = e w2 e _w




QID : 250 -
The line chart given below shows the wheat imported

(in tonnes} by the flour manufacturing company A from
years 2009 to 2015.

#=r faw 9w Yar Ry # 9¢ 2009 @ 2015 dF Th
AT 3cUTEeh FUell A ERT 98 & AT (2l H) @

ZRIT a1 &
300 - 260
@ . 250 -
Q =
E%® L0 4
$E
= 5 150 1
t 100_
-4 50 -
g 0 T T T T T T 1
[=)] o — N [yp) <t Tg}
8 & o & 5 &5 o
(9] N N (o] o (] (]
Year/a§

What is the percentage change in the wheat imported from year 2009 to 2013?

9 2009 ¥ aY 2013 T irTfad 1§ H e ufowra afved= gam g2
Options:
1) 225

2) 150
3) 100

4) 125
Correct Answer: 125
Candidate Answer: 125

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Even if we missed a day's work, (1)/ our salaries are not cut and we (2)/ were paid in full. (3)/ No Error (4)
Options:

11

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

A ethos of equality was one (1)/ of the major reasons for their (2)/ belief in ‘satguru’. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He killed three for dinner.
Options:
1) forl

2) fowls
3) fool

A\ flanr Wi = e w2 e _w ey 1




Correct Answer: fowls
Candidate Answer: fowls

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Mr. Jain has been in this college 2000.
Options:

1) for

2) since

3) of

4) off

Correct Answer: since

Candidate Answer: since

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Cavalier

Options:

1) Nobleman
2) Gentleman
3) Rude boy

4) Patrician

Correct Answer: Gentleman
Candidate Answer: Nobleman

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Sneer

Options:

1) Mock

2) Compliment

3) Praise

4) Applaud

Correct Answer: Mock
Candidate Answer: Mock

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Solemn

Options:

1) Funny

2) Pensive

3) Laughing

4) Light

Correct Answer: Pensive
Candidate Answer: Pensive

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Repulsive

Options:

1) Creepy

2) Hateful

3) Ugly

4) Pleasing

Correct Answer: Pleasing
Candidate Answer: Pleasing

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Taciturn

Options:

1) Silent

2) Talkative

3) Reticent

4) Reserved

Correct Answer: Talkative
Candidate Answer: Talkative

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Cease
Options:

1) Pause

2) Desist

3) Terminate
4) Continue

[T T Ry YU Fandincin Wi = e w2 e _w ey 1




Candidate Answer: Continue

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Do or die

Options:

1) To deceive someone
2) To make a final effort
3) To criticize one

4) To interrupt one

Correct Answer: To make a final effort
Candidate Answer: To make a final effort

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On account of

Options:

1) Instead of

2) Despite

3) Because of

4) Rejecting something

Correct Answer: Because of
Candidate Answer: Because of

QID : 263 - Improve the bracketed part of the sentence.

Sindhu's latest medal, to go with the Rio Olympics silver last year, has clearly (took her past) Nehwal.
Options:

1) taking her past

2) takes her past

3) taken her past

4) No improvement

Correct Answer: taken her past
Candidate Answer: taken her past

QID : 264 - Improve the bracketed part of the sentence.

And makes it a point to remind (eachone) that her recovery is still incomplete, and that she would be back at her best in upcoming competitions.
Options:

1) everyone

2) each people

3) every people

4) No improvement

Correct Answer: everyone

Candidate Answer: everyone

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Something that serves as a reminder.
Options:

1) Moderato

2) Obligato

3) Momento

4) Crypto

Correct Answer: Momento

Candidate Answer: Momento

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A building which is constructed to keep alive one's memory.
Options:

1) Monument

2) Fort

3) Kingdom

4) Statue

Correct Answer: Monument

Candidate Answer: Monument

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Micsellaneous

2) Miscelaneous
3) Miscellanious

4) Miscellaneous

Correct Answer: Miscellaneous
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QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Maintane

2) Maintain

3) Muntain

4) Maintein

Correct Answer: Maintain

Candidate Answer: Maintain

QID : 269 - Rearrange the parts of the sentence in correct order.

Time management

P: one's time efficiently so as

Q: to be more productive and organized
R: is the ability to utilize

Options:
1) RPQ

2) PQR
3) QPR

4) PRQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 270 - Rearrange the parts of the sentence in correct order.

Disaster management is a

P: well-planned strategy for

Q: hazards caused by the disaster
R: making efforts to reduce the

Options:
1) PQR

2) RQP
3) PRQ

4) QRP
Correct Answer: PRQ
Candidate Answer: PRQ

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and

jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

factories producing products

Options:

1) waste

2) sundry

3) bring

4) producing
Correct Answer: sundry
Candidate Answer: sundry

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and
jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

are working in condition.

Options:

1) neat and clean

2) abysmal

3) hopeful

4) good

Correct Answer: abysmal
Candidate Answer: abysmal

Wi = e w2 e _w ey 1




QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and
jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

complain or try to
Options:

1) relate

2) negotiate

3) escape

4) innate

Correct Answer: escape

Candidate Answer: escape

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and

jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

Without poverty child labor

Options:

1) initiating

2) decreasing
3) referring

4) eradicating
Correct Answer: eradicating
Candidate Answer: eradicating

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Child labour is commonly seen at various places in India. From roadside tea stalls to big and small factories producing products like cement, handloom and
jute products, carpets, fashionable tawdry ornaments and fireworks and many other hazardous jobs. Children are working in condition. There have been
cases where child labours were severely beaten and offered no medical help, in case they complained or try to . There are practical difficulties in the way of
abolishing child labor overnight. Without poverty child labor cannot be abolished. There must be a special to check the evil.

must be a special to check the evil.
Options:

1) war

2) divine

3) force

4) source

Correct Answer: war

Candidate Answer: force

QID : 276 - In an economy there could be sector/sectors, which are dominant in terms of total production & employment.

S o ¥ &3 B 9 &, ol A SATGH U1 AR & A H Yo/ g
Options:

1) only one

HId TH

2) only two

Haa gl

3) one or more

LR DER

4) None of these

T AP TR

Correct Answer: one or more
LG I DE

Candidate Answer: one or more
T 1 3iferh

QID : 277 - Banks keep a small proportion of their deposits in cash with themselves as provision to pay the who might come to withdraw money.

& ot ST R T TF BleT i W F Wi Adhd! H, oF a0 A & g s ATt B YA TR & YA & Y F 394 g
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Options:

1) Borrowers
JuR@ateit

2) Lenders
EUCAGIET]

3) Other banks
3 ¥

4) Depositors
SHTdtsit

Correct Answer: Depositors

Candidate Answer: Depositors

QID : 278 - Which section of Indian Constitution has often been referred to as its ‘conscience'?

YR IfYH & 5T TS B 3y IR R IT@! Ster1er +ff g 82
Options:
1) Fundamental Duties

2) Fundamental Rights
it Sfer

3) Directive Principles of State Policy
I & +Hfd e aa
4) None of the;e

Correct Answer: Fundamental Rights

Candidate Answer: Directive Principles of State Policy

g & Hifa e aa

QID: 279 - is better than other forms of government because it allows us to correct its own mistakes.

IR TR A TR ©, T 9 T IS Al I Sl B BT 3R Y Pall B
Options:
1) Democracy

2) Mpnarchy
REGIEET
3) Aristocracy

4) Agtocracy
Corrgct Answer: Democracy

Cand_idate Answer: Democracy

QID : 280 - Which city was the capital of British India upto 1911?

1911 7 f3fesr YRS BT ISR B A1 R UT?
Options:

1) Calcutta

HAGl

2) Delhi

3) Lucknow
[§RCRRY
4) Patliputra

Correct Answer: Calcutta
‘DDl

Candidate Answer: Calcutta
HADT

QID : 281 - What were the two major cities under control of the Chahamanas?

D Y 3 THE UGR IGHAI B FRE H &2
Options:

1) Delhi and Ajmer

Teweh auT SRTER

2) Lahore and Amritsar

AER TUT AR

3) Alwar and Ujjain

AR qUT I

4) Panipat and Kurukshetra
HITd a1 FEET

Correct Answer: Delhi and Ajmer

feeeht aur eeER

Wi = e w2 P i s 7




Candidate Answer: Alwar and Ujjain
AR AT FoI

QID : 282 - What is the angle made by the axis of the Earth with its orbital plane?

et T 3fef U Fefd g & T HI0 ST 37
Options:

1) 11°

2) 33°

3) 66°

4) 15°

Correct Answer: 66°

Candidate Answer: 66°

QID : 283 - What is the thickness of the crust (in km) on the ocean floors?

% Tag § g &t Hiers (., #) e 82
Options:

1) 5-10

2) 15-20

3) 25-30

4) 35-40

Correct Answer: 5-10

Candidate Answer: 15-20

QID : 284 - In Goitre, there is swelling of the .

o I I ol ST B
Options:

1) Eyes

i

2) Jaw's

SRl

3) Stomach

SHRY

4) Thyroid gland

YRRIZS U

Correct Answer: Thyroid gland
YRRISS U

Candidate Answer: Thyroid gland
YRRIZS Ul

QID : 285 - For immediate energy production in cells one should take

FIRGIH H T ot SdeT & g ST AR
Options:
1) Glucose

2) Vitamin K
faerfiA K

3) Vitamin C

fqerftm ¢

4) Roughage

ART

Correct Answer: Glucose

Candidate Answer: Glucose

QID : 286 - An erythrocyte lives for approximately .

TF TRNIEE T Siifad g1 g
Options:

1) One week

TP e

2) Twelve months

IR HoH

3) Four months

IR HEH

4) Four years

IR af

Correct Answer: Four months
IR A

Candidate Answer: Four months
TR 7R
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QID : 287 - An iron ball and a wooden ball of the same radius are released from a height H in vacuum. The times taken by both of them to reach the ground are

TP AR P e aU GHH B0 Bt T ave 3 g &) Fiafd & Farg H Y BeT T ¥ 4t R uges % Rig 39 S gR1 forw e wm gl
Options:

1) different

SICIT-3{STT

2) unequal

SIHE

3) exactly equal

Bl SRR

4) Exactly not equal

EiEaENEE ]

Correct Answer: exactly equal
b IR

Candidate Answer: exactly equal
Blb IR

QID : 288 - Combination of two or more cells such that the positive terminal of one cell is connected to the negative terminal of the next cell are called

A Y S A & T WA o U I BT oA e R S & wor efifaer 9 el fama S €, FHEar gl

Options:
1) Multicell
A

2) Wire
BEISIIGI
3) Battery
G|

4) Fuse
Tl

Correct Answer: Battery

Candidate Answer: Battery

QID : 289 - In computer coding, power of 2 are used in system.

PR PG H, 2 B I1d BT W4T worredt 7 fsar S § 1
Options:
1) Binary

2) Decimal
CRHAT

3) Octadecimal
Sl T
4) Hexadecimal
BT SRIHTd

Correct Answer: Binary

Candidate Answer: Binary

QID : 290 - The law of multiple proportion was discovered by .

T 3t Hediue YUk 1 @il FIRUCTEIERIT
Options:

1) John Dalton

S ST

2) Robert Brown

RECKIRE|

3) Joseph Proust

ST UI8E

4) Way Kanada

q FreT

Cgrrect Answer: John Dalton

S Slecd

Candidate Answer: Joseph Proust

QID : 291 - Amongst the following elements which has the largest atomic size?

fofareT ac # T T87 IRATY TR fHadT 82
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Options:
1) Magnesium

2) Phosphorus

BRERY

3) Lithium

[KRpe]

4) Sodium

ifsaq

Correct Answer: Magnesium

Candidate Answer: Sodium

QID : 292 - What can be taken as average value for the amount of organic matter that is present at each step and reaches the next level of consumers?

UAE FHeH IR HINg quT ITHGs & ATe WR a@ Ugds aid s uard @t ann & e sihad 9o & 0 § 1 fomn S wdh g2
Options:

1) 1%

2) 10%

3) 50%

4) 100%

Correct Answer: 10%

Candidate Answer: 10%

QID : 293 - Which of the following scheme is aimed to track the entire education journey of students?

Foufatea & & o o 9o o1 aeg el & R Rieras aen o fafta w1 82
Options:

1) Padhe Bharat Badhe Bharat

¢ YRd §¢ URd

2) Saransh

IR

3) Shala Asmita Yojana

T ST Ao

4) Saksham

q&H

Correct Answer: Shala Asmita Yojana
ATT

Candidate Answer: Shala Asmita Yojana
RIS

QID : 294 - What was discovered by Thomas Edison?

AT TIEE gRI foerept afateR o 7rar ure
Options:
1) Electric motor

2) Electricity

3) Electric fan

fagaa dar

4) Electric Bulb

dgad ged

Correct Answer: Electric Bulb
fagad aea

Candidate Answer: Electric Bulb
agqa e

QID : 295 - Which sport is correctly paired with its other name?

P YA TG &1 I 3B 3= A F 1Y W T §?
Options:
1) Cricket-Baseball

RG]

2) Golf-Polo
Titew-diet

3) Tennis-Squash
-

4) FootquI—Soccer

Pdd-Hlh

Correct Answer: Football-Soccer

R TLIGRSIERY

Candidate Answer: Football-Soccer

EZEIESICE
QID : 296 - Warli paintings derive its name from a small tribe of .

EIRGIREECAR P T BT SISl &I A 21
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Options:
1) Maharashtra

HERTY

2) West Bengal
i §d

3) Chhattisgarh
UG

4) Jharkhand
IRTS
Correct Answer: Maharashtra

HeRTY

Candidate Answer: Maharashtra
HERTY

QID : 297 - Which state is NOT among the three states to be selected for Krishi Karman Award for their record performance in the production of food grains during
2015-16?

2015-16 & SR A F IdTEA H 3P RPpIs UeRH & U HfY HHi REHR & o1 -9 99 g 7Y o sl & § 181 82
Options:
1) Tamil Nadu
2) Himachal Pradesh
3) Maharashtra
CRTg
4) Tripura

Correct Answer: Maharashtra

Candidate Answer: Himachal Pradesh

IREIEGRC TR

QID : 298 - Who is the author of book named "A Suitable Boy"?

"T gedd S S e & aa® DIF 82
Options:

1) Vikram Seth

o 96

2) Laxmi Sehgal
wert g

3) V.S Naipaul
917, Frdre
4) Kapil Dev
EaERKCE]

Correct Answer: Vikram Seth

fawa 343

Candidate Answer: V.S Naipaul
4109, Aguid

QID : 299 - Which among the following is the first military exercise between Russia and Pakistan?

Fofefad & @ 1 S ay Tiew & §ig ugar 927 o 82
Options:
1) Druzhba

goldl

2) Khanjar
"R

3) Tropex
[EEC|

3) Al-Nagah
S GES NI
Correct Answer: Druzhba

goldl

C;ndidate Answer: Khanjar
ok

QID : 300 - India has removed its which neighbouring country from prior referral category (PRC) for issuing of research visas?

YR 7 30 e TSl 1 1 gd Yhed ol (emedh) & s Jiem ikt 33 & e ger o 82
Options:

1) Bhutan

Y

2) China

GG

3) Bangladesh

EIRSIER]

4) Sri-Lanka

Correct Answer: China

| =ty ——wnT T 7 1




Candidate Answer: China




